BC-01

December — Examination 2023

B.Com. (Part I) Examination
FINANCIAL ACCOUNTING
(fa<ita er@Eia)

Paper : BC-01

Time : 3 Hours | [ Maximum Marks : 70

Note .— The question paper is divided into three Sections
A, B and C. Write answers as per the given
instructions.
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Section-A 7x2=14
(Very Short Answer Type Questions)

Note .— Answer all questions. As per the nature of the
question delimit your answer in one word, one
sentence or maximum up to 30 words. Each

question carries 2 marks.
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Explain Entity Concept.
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When suspense account is opened ?
Sl WA he Sl S ¥ 2
Explain Going Concern Concept.
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What do you mean by Deferred Revenue

Expenditure ?
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Give any two examples of Capital Loss.
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(vi) Give the formula of finding out depreciation

on the basis of fixed instalment method.
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(vi1) Explain ‘Error of Commission’.
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Section-B 4x7=28
(Short Answer Type Questions)
Note -— Answer any four questions. Each answer should not
exceed 200 words. Each question carries 7 marks.
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. What is Memorandum Joint Venture Statement ?

Why and how is it prepared ?
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. What do you understand by ‘Consignment of

Goods’ 7 Explain the difference between

Consignment and Sale.
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. Write the journal entries in the books of purchaser,

which 1is purchased goods under instalment
payment system.
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. Write short notes on the following :

(1) Outstanding Expenses

(i1)) Unearned Income
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6. When Branch Adjustment Account is prepared ? (i) o som o 150,000
?
I THESH @l %8 SHE @l © (iii) for = 5,000
7. Prepare Total Debtors Account from the following : (iv) T T FE 1,60,000
4
(v) =gt fea 4,000
(i) Opening balance of debtors 1,00,000
(vi) "= fore 10,000
(i1) Total credit sales 1,50,000
(vii) foe1 M gam 4,000
(i11) Sales returns 5,000 E
o \ 2
(iv) Cash received 1,60,000 (il et &= & g ;000
(v) Discount allowed 4,000 8. Explain ‘Accounting Cycle’.
(vi) Bills receivable 10,000 "G W A A
(vii) Bill receivable dishonoured 4,000 9. Explain reducing balancing system of depreciation.
(viii) B/R Discounted with bank 2,000 T i Sl g5 W TSI Sl HHSAET
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Section—C 2x14=28 11. Write a note on ‘Persons Interested in Accounting’.

(Long Answer Type Questions) ‘AEmR H v TR 9 A’ W T e fafe )
Note .— Answer any two questions. You have to delimit 12. Prepare a branch adjustment account with the help
your each answer maximum up to 500 words. of imaginary figures.
Fach question carries 14 marks. FTTTH 7HT F TEFA QA IS THEISHE @l S |
gus—H 13. Write short notes on the following :
(@ s v (a) Inter Branch Transaction
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(¢) Cash in Transit
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10. How will you treat the bad debts, when :
(@) Consignee gets Del Credere Commission ?

(b) Consignee does not get Del Credere

Commission ?
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